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LINGUISTICS
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Match the items in List — | with the 5. Match the items in List — I with those
items in List — 1l and answer by in List — 11 and choose the correct
selecting the correct code : answer from codes given below :
List — I List - 11 List - | . List=1I
a. Bank (place)- i. Synonymy a. ':Patrrgll:ar;?our?l i. Oral
Bank : . .
commeria) o el . Trrsto
b. Flower-Rose —ii. Antonymy c. Intersemiotic iii. Rewording
C. Happ)_/-Sad Iii. Hyponymy translation
d. Beautnful- v. Homonymy d. Interpretting iv. Transmutation
Charming Codes -
Codes : a b c d
a b ¢ d (A Qi i v
(A) i i v B) i i v
(B) v i i i (C) iv i i i
(C) v i i (D) i i il v
(D) i i 0 v .
6. In a compound verb construction the
Assertion (I) : An encyclopaedic Vy Is known as
dictionary provides detailed (A) Polar verb
information about a field of (B) Vector verb
knowledge. (C) Lightverb
Assertion (11):  All comprehensive (D) Grammaticalized verb
dictionaries are encyclopaedic 7. The statement that “contact between
dictionaries. different languages is not an obstacle
Codes : _ but a facilitator in communication”
(A) (1) is false but (1) is true. was given by
(B) Both (I) and (I1) are true. (A) Colin P. Masica
(C) Both (I) and (1) are false. (B) Peter Hook
(D) (1) is true but (I1) is false. (C) P.B.Pandit
(D) Hans Hock
Which of the following treatises is 8.  Match the items in List — | with those
known fOl’ |tS Indian trad|t|0na| in L|St -1 and Choose the correct
theory of ‘Rasa’ ? answer from codes given below :
(A) Natyashastra (B) Vyaktiviveka List — | List — 11
(C) Kavyadarsh (D) Dasharupaka a. Isolating i. Sora
b. Incorporating  ii. Eskimo
A binary classification of translation c. Agglutinating iii. Hungarian
into semantic and communicative, d. Polysynthetic  iv. Mandarin
which resembles Nida’s ‘formal’ and (Chinese)
‘dynamic’ equivalence was given by Codes :
(A) E. Nida a b oc d
(B) Catford J.C. (Q) ik i
(C) Peter Newmark EC% ii/ ilili Iilil '?’
(D) Roman Jacobson (D) iii i i iv
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9.

10.

11.

12.

A conjunctive participle in South
Asia languages may function as
(@) Sequential action

(b) Time and manner adverb
(c) “Instead of” interpretation
(d) Identity constraint

Codes :

(A) Both (a) and (b) are correct.
(B) Only (a) is correct.

(C) Both (c) and (d) are correct.
(D) All the above are correct.

Assertion (1) : It is believed that
retroflexion developed in Indo-
Aryan spontaneously in the
environment of /r/ and retroflex
vowels, and went through rapid
diffusion as a result of contact
with Dravadian languages.

Assertion (I1): Retroflex  sounds
however do not occur in Garo,
Khasi and Assamese.

Codes :

(A) Both (1) and (I1) are true.

(B) Both (I) and (I1) are false.

(C) (1) is true, but (1) is false.

(D) (1) is true but (1) is false.

A central concept that reflects an
contains
elements from both the L, and L,

interim  competence that
grammar is

(A) Intralanguage

(B) Interlanguage

(C) Intralingual

(D) None of the above

Assertion (I) : In the continuum of
Cross linguistic similarity
relationships, three distinct types
can be discerned; similarity,
contrast and zero relations.

Assertion (I1): The similarity
relation means that an item or
pattern in the target language
(TL) is perceived as functionally
similartoaforminthe L.

Codes :

(A) Both (I) and (I1) are right.
(B) Both (I) and (1) are wrong.
(C) (1) is right but (1) is wrong.
(D) (I is right but (1) is wrong.
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13.

14.

15.

16.

The advertising message “Thanda
matlab Coca Cola” is an example of
(A) Weasel claim

(B) Metonymy

(C) Synonymy

(D) None of the above

Match the items in List — | with those

in List — Il and choose the correct

answer from codes given below :
List -1 List - 11

a. Interlingual i. The learner can
transfer draw upon the
previous linguistic
system
b. Intralingual ii. In order to get the
transfer message across, a
learner may
manipulate the
target language
c. Context of iii. Induced error
learning

d. Communi- iv. Intralingual

cative generalisation
strategies
Codes :
a b C d
A i iv i i
B) i i i iv
(©) iv i i i
(D) i i [ iv
Who is/are the author(s) of the book
entitled ‘Introducing Applied
Linguistics’ ?
(A) S.Pit Corder
(B) S.K. Verma and N.

Krishnaswami
(C) Thomas Wilson
(D) None of the above

Assertion (I) : The
modularity is
psycholinguistics.

Assertion (I1): Most people agree
that  processing can  be
described in terms of single
level of processing.

Codes :

(A) Both (I) and (11) are true.

(B) Both (I) and (I1) are false.

(C) (1) is true but (I1) is false.

(D) (1) is false but (1) is true.

D-31-13

concept of
important in



9.  sferor uferamg wrre # U GANTE FEA
Wwéaﬁu?iﬁm%
(a) TR
(b) rot wd difer o Fereioor
(c) o= ‘=l o=
(d) wE=™ uldar
FE
(A) () 3R (b) S LT |
(B) oA ()T |
(C) (c) 3R (d) I TET & |
(D) STie T W& E |
10. afwwem (1) : Ig fovarwg fear smr
¢ 5 uwrdm o wonen #
fdates 3R (1) 3R] uidafed @)
% uRawr § @ fasiad g g,
gl W % @ H A %
RO TOH ot 9 fareRor
TIAE |
st (11) © BTl Uiqated e
TRY, G, S T U S € |

BT
(A) (1) 3 (1) T T E |
(B) (1) 3R (Il) T4 7Tera & |
(C) () @& e W= () T & |
(D) (1) T &, =g (I) T & |

11. T ITEOYROT ST 3H FARE 9 &
ettt et & e Ly 3 L, S
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(B) =TT

(C) o.M
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12. afwwem (1) : wfqwfyes gomarn

WY H Graedsh WEFhed T o
T HEeh ThRT Sl ST ST Hehell
£ T UBN & — GHFC], SAlE
3R I Ty
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¢ o5 U OT e S eiter
(TL) 5 L, o Wehrdt ol e & |

BT

(A) (1) 3% (1) T w&TE |

(B) (1) 3R (I1) I Tord & |

(C) ()T e == (I) T & |

(D) ()& e, =g (I) T & |
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13.

14.

15.

16.

“IUST HIAS il hiel” 39 [o=aT
Ty, fr=feifiad o 9, SR ¥

(A) ™ T

(B) ucretor

(C) | ‘

(D) SWiwd § H g Tél

A - | B AR R gE — | B AR

THfed HIST 3R wie ¥ T&l W

T BT

=t - | =t - I

a. T W i, Toremel fuselt 9w

=TT TUTTeA ¥ AT 32T
HHaT T |

b. o= wifter i, foremelf qk waw

3TRT A & forT a7
AT T F IS
T EHATE |

c. MM F i, e e

TgT g

d. ORI iv. I 9w

Eiis] TR

e

a b c d

(A i v i i

B) i i i v

©) iv Qi i i

(D) Qi i i v

(A) TH. e BT

(B) TUH.F. 9 UG UH. FOMEE!

(C) w9 faea=

(D) SWiwd § § g T8l

afirper (1) :  Wicegshar st STaERoT

AR & Few@qor ¢ |

e (11) @ SAfeha? o Jeqd &
ToF TATE I GEEE % Ul WY
% ®q T o7 a1 ST Wbl & |

HE

(A) (1) 3 (1) T T E |

(B) (1) 3R (I1) I 7Tera € |

(C) () @& e, W= () T & |

(D) (1) 7Tora &, w=g (1) W&l & |
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17.

18.

19.

20.

21.

Arrange the following four general

characteristics of child language

learning in the correct order :

(A) Creativity, typicality, similarity
and spontaneity

(B) Spontaneity, creativity,
typicality and similarity

(C) Typicality, similarity,
spontaneity and creativity

(D) Similarity, spontaneity,
creativity and typicality

A special way of talking to children
was originally called

(A) Mother-directed speech

(B) Parent-directed speech

(C) Environmental speech

(D) Motherese

A left hemisphere aneurysm results
in a pathological short-term memory
span and the disorder is known as

(A) Paraphasia

(B) Dementia

(C) Deep dysphasia

(D) Amnesia

Match the items given in List — | with
the List—11:
List -1 List—11
a. Lichtheim i. Process Model
b. John Hughlings ii. Global Model
Jackson
c. Pierre Marie and iii. Hierarchical

Kurt Goldstein Model
d. A.R. Luria iv. Connectionist
Model
Codes :
a b c d
(A) i iv i i
B) iv il i i
(C) ii i v i
(D) iv i i iii

The characteristically  simplified
speech style adopted by Someone
who spends a lot of time interacting
with a young child is called

(A) Empty speech

(B) Limited speech

(C) Caregiver speech

(D) Child speech

Paper-I111

22.

23.

24,

Match the items from given in List — |
with the List— 11 :
List—1 List— 11
a. The accurate use i. Strategic
of words and  competence
structures
b. The ability to ii. Communica-
use appropriate  tive

language competence
c. The abilityto iii. Grammatical
organize a competence
message
effectively
d. The general iv. Socio-
ability to use the  linguistic
language competence
accurately,
appropriately
and flexible
Codes :
a b C d
(A) i v i
B) i i v i
© i i iv
(D) iv N TR |

Which one of the following pair is
not correctly matched :

(A) Deciding — Conceptuali-
what to  zation
express

(B) Determining — Formulation
how to
express

(C) Expressing — Situation

the content
(D) Achieving
goals

A given multilingual society is
usually an example of more than one
of the historical patterns at the same
time. Arrange the patterns as it
appears.

I. Migration

ii.  Federation

iii.  Border area multilingualism

iv. Imperialism

— Conversation

Codes :

(A) i i iv il
(B) iii v i i
(S iv i iii
(D) iv i i iii

D-31-13
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(B)IIGEIEY

19. #AREss H e oEgd W %
IROTHEEY FUCHS ®9 T THIA &
fow wfq wfaq &t &, 39 fasa @t
Fed €
(A) TRTRREET (B) fewiferm
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20, GO — | DU B A — || B AR
GAferd Iy
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a. foradm i. TfshaT ATsel
b. SEA  FACTTY ii. SgTETHA
SR e
c. TEX W wd & iiii. WA Higer
pliersic)
d. TR iv. IRy AtsA
S
a b Cc d
(A i v il i
B) iv Qi i i
(C) ii i v i
O) v i i i

21, TUNETH €T H WRCAFA Vel B SN
ST IS iR S BIS e o T Flg
HE H T ARIH GHT AT BT &
39 el I Fed &

(A) T am
(B) Hifae oo
(C) @-9TeT XA aTet i e
(D) e W
D-31-13

22. Al — | DA B GE — || B AR
GATAd T

23.

24,

Tt - | Tt -~ |1
3, VIsS] TS GTEATSA i, R aw
amw“rmﬂv% qmed
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e
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(D) iv i i i
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25. Assertion (1) : Ferguson sees three
categories of language
development :  graphization,
standardization and modernization.

Assertion (I1): Garvin uses the
term intellectualization, which
roughly corresponds to
Ferguson’s modernization

Codes :

(A) Both (1) and (I1) are false.

(B) Both (I) and (I1) are true.

(C) (1) is true but (I1) is false.

(D) (1) is false but (1) is true.

26. A criterion used in Linguistics
referring to the ability of people to
understand each other is
(A) Mutual intelligibility
(B) Mutation
(C) Unintelligibility
(D) Semi bilingualism

27. From a historical point of view, the
word store of almost any language
includes items of those inherited by
direct transmission from the original
stock. In Indian  grammatical
tradition these words are known as
(A) Tatsama
(B) Tadbhava
(C) Deshaj
(D) None of the above

28. Assertion (1) : Borrowing is a term
used in comparative and historical
linguistics to refer to a linguistic
form taken over by one language
or dialect from another.

Assertion (11): Borrowed words are
not considered as loan words.

Codes :

(A) (1) is false but (1) is true.

(B) Both (I) and (I1) are false.

(C) (1) is true, but (1) is false.

(D) Both (I) and (I1) are true.

29. A line drawn on a map to mark the
boundary of an area in which a
particular linguistic feature is used is
(A) Isochrony (B) Isomorph
(C) Isogloss (D) Isolex
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30.

31.

32.

33.

34.

A linguistic theory that refers to the
systematic grammatical variation
permitted by the human language
faculty is known as

(A) Language variation

(B) Parametric variation

(C) Grammatical variation

(D) None of the above

The unity of a linguistic sequence or
chain defined in terms of relations
between its forms is called

(A) Cohesion

(B) Coherence

(C) Context

(D) Connotation

Assertion (I) : Semiotics is the
scientific study of the properties
of signalling systems whether
natural or artificial.

Assertion (I1):  The term synonymy
is used in semantics to refer to
a major type of sense relation
between lexical items.

Codes :

(A) Both (1) and (I1) are true.

(B) (1) is true and (I1) is false.

(C) (1) is false and (Il is true.

(D) Both (I) and (I1) are false.

“The tornado annihilated the whole
town to the point that nothing was left
standing”. What does annihilated mean ?
(A) Constructed (B) Created
(C) Destroyed (D) Saved

Match the items in List — | with
List — Il and select the correct answer
from the codes given below :

Codes :
List—1 List— 11
a. Tagmemics i. Social
interaction
b. Semantics ii. Noun phrase
c. Pragmatics iii. K.L. Pike
d. Anaphor iv. Meaning
Codes :
a b C d
(A) i v i
(B) iii i v
C i v i
(D) iv il [ i
D-31-13



25.

26.

27.

28.
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30.
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32.

33.

34.
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SR e P E A AT
TS qEEE fagia Fefated § 9
HATE ?

(A) T faehed

(B) wrafcish forehed

(C) SATHUTE Tashea

(D) S ® & g T

T WO STIehH 3TefaT ST i Tehd,
WWW%W%W&
gfeIiee feham ST &, B e €

(A) dgfe (B) i

(C) w&T (D) e

afpem (1) : Thd o= wpiaes
T FHEAH HehaA TSIl o T[OTEH
T D T T |

afrpem (1) ;@ =5 fosm H
HYFTIHAT U5 BT WFRT HITATT Hal
% S W@ TR o 9E Ty H
TR e o o fofar ST & |

FE

(A) (1) SR I LT |

(B) (1) W& &3 (II) Tora & |

(C) (1) et & 3R (1) WeT & |

(D) (1) 3R (1) ST 7oA € |

“THATd A W T Hl AGEMHS W

fear | “oferame &1 o1 F R ?

(A) FEUTEET (B) GO HAT
(C) T & (D) s=T
Tl — | TR R g — || S
Ty e ST R A= KT 1T we
I FETIT ¥ TEl W G
et - | = - I
a. SfemfasT i SED
TRERTRAT
b. rifasma ii. G USeY
C. Hoha WA fo= i, .U, USH
d. s iv. a7
HIE
a b c d
A Qi v i i
B @i i Qi v
© i v i i
D) iv Qi i i
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35.

36.

37.

38.

39.

If flower is a super ordinate term,
what is the term which refers to rose,
hibiscus, sunflower etc.

(A) Co-hyponyms of flower

(B) Hyponyms of flower

(C) Synonyms of flower

(D) Homonyms of flower

D.P. analysis of noun phrases is
associated with
(A) Abney
(C) Kayne

(B) Chomsky
(D) Stowell

Match the items in List — | with the
items in List — Il and select the
correct answer from the codes given
below :

List -1 List - 11
a. Anaphoric i. Agent
reference
b. Deixis ii. Object
c. John iii. Himself
d. Grammatical iv. Here
relation
Codes :
a b c d
(A) il i i iv
(B) iii v i i
(C) iv il i i
D) i iii i iv

Select the correct order from the
codes given below :

I. Deep structure

ii.  Surface structure
iii. Phonetic form

iv. Transformation
Codes :

(A) i i v i
(B) iii i i iv
(C) iv il i ii
D) i iv i iii

Which ones of the following are
ECM verbs ?

I. Say .  Want
ii.  Try iv. Expect
Codes :

(A) iandiv (B) iiandiv
(C) iandiii (D) iiandiii

Paper-I111
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40.

41.

42.

43.

Assertion (I) : A verb can assign
case only if it assigns an
external theta-role.

Assertion (I1): Because verb fall
assigns external theta-role, it
can also assign case.

Codes :

(A) (1) is false but (1) is true.

(B) Both (I) and (I1) are false.

(C) (1) is true but (I1) is false.

(D) Both (1) and (I1) are true.

Match the following in the List — I
with List — Il and select the correct
answer from the given codes below :

List—1 List— 11
a. Acronym i. UNESCO
b. Coinage ii. Intercom
c. Circumfix iii. Dalda
d. Blending iv. Embolden
Codes :
a b c d
(A) i i iv i
(B) iii i i iv
(S i ivo i
(D) v i i [

A compound word is different from a

phrase because

(A) some compounds can be
without ‘head” but phrases
can’t be without *head’.

(B) phrases can be without ‘head’
but compounds can’t be
without ‘head’.

(C) both can be without *head’ in
any language.

(D) both must have ‘head’ in all
languages.

A ditransitive verb is a verb that
takes
(a) three arguments (internal &

external)

(b) subject, direct object, indirect
object

(c) subject, instrumental object,
ablative object

(d) subject, direct object and

locative objective
Codes :
(A) only ‘c’ is correct
(B) both ‘a’ and ‘b’ are correct
(C) ‘a’, ‘b’ and ‘d’ are correct
(D) both ‘a’ and ‘d’ are correct
D-31-13



35. A %ol UH AFANE Ug & @ e,
STUTRgH, YISTE! SIS I TR
AT U% /T § ?

(A) TeT % HE-STaAHTEE IE
(B) el % STEHTHI ¥Ie5
(C) el & THMIEE I
(D) T % fera-frelss vy

36. T URSH % SO favelwor # FEy
foraa & 2
(A) T (B) =i
(C) = (D) =&

37. G - | HEIH GA — || B A H
T gHferd i SR A= 5T T Sl
¥ e W g

= - | =t - I
a. TR eH i, o
b. ferfq-fger ii. &
c. S iii. @
d. =R Tey iv. Tl
FE:

a b c d
(A) il i i iv
B) i v i i
€) iv Qi i i
O) i Qi i v

38. = fSU T wie ¥ WEl ST g
i T HTET
i, et FTEAT
iii. w@H®wg
iv. TEHERoT
FE:

(A i i v
(B) @i Qi i v
©) iv i i i
(D) i iv i i

39. Toefeifed & & %= SHT. foand € 2
I el ii. =R (372)
iii. 9O T (QE) iV, GESET
FE:

(A) i3Riv (B) i 3R iv
(C) i 3iii (D) i 3R iii
D-31-13
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40.

41.

42.

43.

afpe (1) : HE Fr & FRE
T TR H Fhdl § 59 98 T
T 1T IS el & |

sfveE (1) : it har frar
MET ofeT YT TS Il &, T8
HRF f U B el & |

B

(A) (1) 7Terd & o= (1) T e |

(B) (1) 3R (1) ST TeAaT € |

(C) (N)T&E == (I) T & |

(D) (1) SR> LT |

— | & — 1l % 91y gafed
%ﬁmmﬁwﬁgm@

T
= - | =t -1

a. T i, TR
b. @S ii. $THM
C. WA iii. SrereT
d. sifem iv. SaeeT
S

a b c d
(A i i v il
(B) iii i Qi v
() i i iv i

(D) iv Qi Qi i
T QAT I8 aeer § 9T 2 %,
ERIIED

(A) T AHIEE e Y’ & o &
T ¢ fobg fomm vl o amerarst
TEl & "R |

(B) @Ry foT ‘oM’ & & Fehd ©
=g fomm i’ & woifaes oI
TEl & TR |

(C) i & foplt oft sy & fay o9 o
2 g € |

(D) Tt et | g SAfEmE: o
Tfed g =feT |

U$ FIHUS ThA1 a8 TRAT & S

A E |

(@) = b (3ieer 3T =)

(b) I, U] HH, U HH

(c) T, HROT HH, SR HY

g)_gﬁ,mwﬁﬁaﬁwﬁ

(A)Wcﬂ%"rifl
(B) ‘a’ 3R ‘b’ I T T |
(C)abaﬂTdﬂﬁ%l
(D) ‘@’ R ‘d" W& |
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44,

45.

46.

Match the items in the List — | with
those in List — Il and choose the
correct answer from the codes given
below :

List-1 List— 11
a. Deadline i. Left headed
endocentric
compound
b. Walking ii. Right
stick headed
endocentric
compound
c. Boy friend iii. Copulative
compound
d. Attorney iv. Exocentric
General compound
Codes :
a b c d
(A) i i v i
B) i v i iii
(©) v i i i
(D) i iv i i

Assertion (1) : In the articulation
of [S] in the English word
‘sweet” there is anticipatory
coarticulation.

Assertion (I1): In the articulation
of [S] in the English word

‘sweet’” there is double
articulation.
Codes :

(A) (1) is false but (1) is true.
(B) (1) istrue and (1) is false.
(C) Both (1) and (I1) are true.
(D) Both (I) and (1) are false.

Match the items in List — | with those

in List — Il and choose the correct
answer from the codes given below :
List—1 List—11
a. Phoneme i. Air-stream
mechanism
b. Phonation  ii. Comple-
mentary
distribution
c. Allophone iii. Voice
d. Implosive iv. Parallel
distribution
Codes :
a b C d
A i i i v
(B) iv i i [
©) ii i i v
(D) i iv i

Paper-I111
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47.

48.

49.

50.

Acoustic information about the place

of articulation of stops and fricatives

can be obtained from

(A) Transitions

(B) dark vertical lines in the upper
part of the spectrogram

(C) dark horizontal bass

(D) none of the above

Assertion (1) : Feeling order is that
in which the output of one rule
increases the number of items to
which the second rule can apply.

Assertion (I1): Bleeding order is
that in which the output of the
first rule decreases the number
of items to which the second
rule is applicable.

Codes :

(A) (1) istrue and (1) is false.

(B) (1) is false and (I1) is true.

(C) Both (I) and (I1) are true.

(D) Both (1) and (I1) are false.

Assertion (I) : Lexical rules must
be structure-preserving and
apply first.

Assertion (I1): Post-lexical rules
are also structure-preserving
and apply only later.

Codes :

(A) (1) is true but (I1) is false.

(B) (1) is false and (I1) is true.

(C) Both (I) and (I1) are false.

(D) Both (1) and (I1) are true.

Assertion (1) : Computational
linguistics analyses natural
languages on the basis of the
internet features such as rules
and representations of natural
languages.

Assertion (I1): Computer as a
machine can understand the
patterns  of  rules and
representations if they are
programmed well in computer
languages.

Codes :

(A) Both (1) & (I1) are false.

(B) Only (1) is true, (1) is false.

(C) Only (II) is true, (1) is false.

(D) Both (1) and (I1) are true.

D-31-13



44, TA - | DA B GA — || AR

45.

o7 GHfeTd T SR A KT T e |
Tl I g
=t - | =t -1
a. STomeA i, 9 9% T
peiaire)
b. otk e i, I 9 U
psiais)
c. A %S iii. 55 999
d. TEHT SR iy, SgsiifE gEr
HE
a b c d
(A i i v i
B) ii iv i iii
©) iv Qi il i
©) i v i il
Afiper (1) : SRS I ‘sweet’
H [S] % =RVl § yardel Te-
IR |
atfirper (1) : SRS 9 ‘sweet”

T [S] & STIRU H & TR
T

BT

(A) (1) T & 3R (1) T T |

(B) (1) W3 (1) T & |

(C) ()RS T E |

(D) (1) 3R (1) S T & |
46. A — | Hw g — 1l F |y gAfed
FIMT SR A= KT T Hie F Tl W
ELL
=t - | =t -1
a. @Hq i. dg-yamE
RIEETS
b, &= i, X foaeor
c. ST iii. =
d. iRt iv. TEETR
foa=on
HE
a b c d
(A i i i v
(B) iv i Qi
(© i i iii v
(D) i v i i
D-31-13
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47.

48.

49.

50.

W7 3R TOT 9O & STARYT &% WM &

IR H e gaT FEfoad 9 9 el

T ST Wl € ?

(A) ZifTET (g

(B) wWww™ % IR Wi H T
FRATIY TG

(C) Tt &feifoter Yamd

(D) UG W W HE Tl

AfUFSA (1) @ W HH T E
|“'1'H‘-| Yol |"|¢|‘-| hl |"|‘|('| g
e gRT r] fohu ST arelt wEi
! T B TGTIATE |

AU (1) : e 9 9e W ¥
|“'1'H‘-| Yol |"|¢|‘-| hl |"|‘|<'| Wqﬁ
1 W& H T 3 & S gE
e Py BT €

BS

(A) (1) T& & 3 (1) ToTa & |
(B) (1) Tora & 3 (1) W& & |
(C) ()R T |
(D) (1) 3 (I1) 1 TTora € |

At (1) HRFd a9 G-
TICH 3T 8 aIfey 3R
T YA Uged TR ST =feT |

W (1) @ el SR f=m
+t TREAT TIONHE B & S T

e TR hael a1 § AT ST =T |

(A) (1) T &3 (1) T & |

(B) (1) TTort & 3R (1) W & |

(C) (1) (1) T T & |

(D) (1) SR> LT |

AT (I) : TR W
TS o T ST Thideh et
% WfdHe, % MR W WTHdh
TS T fTTATOT AT |

alfw(ll) % WIH % ' OH
FeeX i SR ufattret &t
STR=AT BT e Tk § A 3%
FX TR H IS e d
TS feRaT T B |

HI: '

(A) (1) 3R (Il) FH Te1a € |

(B) o (I) W €, (Il) Tord & |

(C) = () W, (1) T & |

(D) (1) 3R (1) I eI € |
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51. Assertion (I) : Morphological
typology classifies languages of the
world on the basis of how much
and what kinds of morphemes are
used in the languages.

Assertion (1) : Despite the best effort
and rigorous training
morphological  typology can’t
classify languages into water tight
compartments.

Codes :

(A) only (1) is true, (1) is false.

(B) both (I) and (I1) are false.

(C) only (1) is true, (1) is false.

(D) both (1) and (I1) are true.

52. Computational linguistics does the
analysis of natural languages in a
sense that
(A) it processes hard-stuff into

human languages.

(B) it  processes information
contained into hardwares of the
computer.

(C) it processes information and
pattern available in natural
languages.

(D) none of the above.

53. Machine translation in computational
linguistics means that

(@ machine will translate one
natural language to another by
means of computerized
system.

(b) machine will help human to
translate  natural languages
faster.

(c) machine will create new forms
of languages by means of
translation.

(d) machine will need more time
and people to do translation.

Codes :

(A) Only (a) is correct.

(B) Both (a) and (b) are correct.

(C) All the above are correct.

(D) Both (c) and (d) are correct.

Paper-I111
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54.

55.

56.

Match the items in List — | with those

in List — Il and choose the correct

answer from the codes given below :
List—1 List— 11

a. Assembly i. Hindi, Punjabi,
languages Bangla

b. High level ii. Java Script,
languages Python, Perl

c. Scripting iii. C++, Fortran,
languages Pascal, Cobol

d. Natural iv. ARM, MIPS,
languages X86

Codes :

a b c d

(A) i ivooi [

(B) iv i i [

(S i iv il

(D) iii i i v

‘Parser’ in computational linguistics

means

(A) a computer program that
receives sequential information
and breaks it up into non-
sequential parts.

(B) it requires hardware knowledge
to make computer program

(C) it transfers hardware from one
place to another place

(D) it helps computer engineers to
make faster computers.

Match the items in List — | with those

in List — Il and choose the correct
answer from the codes given below :
List—1 List— 11
a. C.V. Tier i. Prosodic
phonology
b. Foot ii. Auto-segmental
phonology
c. Constraint iii. Generative
ranking phonology
d. Distinctive iv. Optimality
feature theory
Codes :
a b C d
(A) i i i v
B) ii i iv i
(C) i v [
(D) iv il [ i
D-31-13



51. AR (1) : ®UMHe FEUrest ST
H WY Sl &7 3R TR % STER
W fawa o 9ISt v A Hdr
T
afrreE (1) FaT T 3R FeR
TRTEI0T & STESE WU TREITeRT
qTTsTt T YU UAh-Ue g
Tel T T |
HI:
(A) Faa (1) T g, (Il) T & |
(B) (1) 3R (1) 31 ToAa € |
(C) et (1) T &, (1) 7o & |
(D) (1) 3R (1) I T € |
52. SIIHCTICHS TGS Whd STTsti
fareetooT 3 orel # e ¢ foF
(A) TE A s H HAX SURH
Tk AT T |
(B) ¥E FHX F TE-RR H U
AT Bl UfShaT AT T |
(C) ¥E upa woisti H Iucted Gl
3R I i UTshaT el & |
(D) Sww | W Hig TEl
53. URECHIHS TR O H9iHT AR
g A &
(a) WRMA Shicdd Womell o Hreaq
T TS Ul ATHT T TE Uehel AT
H 3TaE HAM |
(b) WRNF UHEd oremeH H st o
AR FH B AT B TETF
FHOT |
(c) TR AR % T § IS &
T WU T G HAT |
(d) R = & o @eig @@t
afyss T X @ W
STl I
HI:
(A) et (a) TETE |
(B) (a) 3R (b) I WEI & |
(C) Swisd ot W& € |
(D) (c) 3R (d) T W& € |
D-31-13
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54.

55.

56.

Tl - | AR A g — | B AR

gofera #ifvT &R = 5T T el 9
HET I 1 TTT BT
=t - | = -1
a. ST qOd . e, U, Sel
b. SHTE  ii. San (&, Ir2dm,
oy o)
c. Tpfter 9y iji. C++, ®IZH,
YRehed, hialel
d. UHd 9O v, TR,
Y ETL,,
X86
e
a b c d
(A) i iv i i
(B) v i i
© i i iv i
(D) i i i v

TR WO | T 9 ded &
(A) TH HEF FIEFHA AT HHF o
T T & X TH SThHS i
o dfed T e |

HET HEHA T & T BT
I BT T AR BIAT T |

I TS-9E B U I T
M AT HAT e |

TE HU I S § T A F
R TERT I T HAT § |

Tt — | = H& R g — || F S E
e g SHIT SR A KU o e
Y gATT I
=t - | =t -1
a. |l T Q. WA WEeee
b. T ii. EEEE WHaase
C. ST iii. TS @HaTaeE
SofreRoT
d. Sads

(B)
(©)
(D)

iv. IEadar o fagia

>

i iv
(B) ii i iv il
(C) i v [
(D) iv il [ i
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57.

58.

59.

60.

61.

Assertion (1) : A phonematic unit is
associated with a single position
in a linear structure.

Assertion (I1): A prosody is that
whose domain is potentially larger.

Codes :

(A) (I)istrue and (1) is false.

(B) (1) is false and (I1) is true.

(C) Both (I) and (1) are true.

(D) Both (1) and (1) are false.

Select the correct sequence from the
smaller to the larger unit :

(A) Food - syllable — prosodic word
(B) Prosodic word — syllable — foot
(C) syllable — prosodic word — foot
(D) Syllable - foot — prosodic word

Foot is defined as

(A) arhythmical unit in verse

(B) a rhythmical unit in speech
consisting of one or more words

(C©) a rhythmical unit in speech
consisting of one of more
syllabus grouped together
according to their stress pattern

(D) None of the above

Assertion (1) : Autosegmental
phonology allows phonological
processes to be independent and

extend beyond individual
consonants and vowels.
Assertion (I1): In autosegmental

phonology each tier is not linked
to the other by association lines.
Codes :
(A) (1) istrue and (1) is false.
(B) (1) is false and (Il is true.
(C) Both (1) and (I1) are true.
(D) Both (1) and (I1) are false.

Assertion (I) : There can be
differences between the words
used by men and women in a
variety of languages.

Assertion (I1): An alternative that
includes both genders, or avoid
gendered usage is becoming
more common in  modern
languages.

Codes :

Both (1) and (II) are false.

Only (1) is true, (1) is false.

Only (1) is false (1) is true.

Both (1) and (I1) are true.
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62.

63.

64.

65.

The term ‘verbal

linguistics refers to

(@) the range of mis-norms that can
be the part of the speech.

(b) the range of language or varieties
of a language available for use by
the speaker

(c) the wide range of vocabulary
items that makes the speaker the
standard user of the language.

(d) the narrow range of standard
vocabulary items that
differentiate the speaker of a
language in the society.

Codes :

(A) only (a) is correct

(B) only (b) is correct

(C) both (a) and (b) are correct

(D) both (c) and (d) are correct

Which  of the following is
stigmatized variety of English ?

(A) Communicative English

(B) Technical English

(C) American English

(D) Black English

repertoire’ in

A *Speech-community’ in its

simplest sense means

(A) a group that shares norms and
expectations regarding the use of
a common  communication
system.

(B) a group of people who can allow
marriage outside the group.

(C) community can take its share by
allowing people to be group.

(D) a group of people who demand
more money and power.
The use of language in social

environment may include :

(@ Power-politics of language

(b) Social stratification of language
(c) Standardization of language

(d) Metaphorical use of language
Codes :

(A) Both (a) and (b) are correct

(B) Only (d) is correct

(C) Both (c) and (a) are correct

(D) (a), (b) and (c) are correct

D-31-13



S7.

58.

59.

60.

61.

arfyreperE (1) : WWE G § @
e (1) ;=TT 98 !
@ﬁéa%mﬁﬁaﬁ@w%

S

(A) (1) T& & 3 (Il) Tora & |
(B) (1) Tora & X (1) WET & |
(C) (1) 3R (1) AT T E_|
(D) (1) 3 (I1) S T & |

B W 9E THE ok TE HA B GG

FHIT

(A) =0T — 3T — 70T 9

(B) VT I — 3R — =R

(C) 3R — 77 ez — =R

(D) 3T — =0T — 70T 3R

TOT B (TR & &9 § IS [6ar

ST )

(A) o H TS TS ‘

(B) Uk = IAfy® V& ot a6 o
AR THE

(C) U a1 31y 3TRT N 37k T
% UdIE % SER TR 9
AR AT H AATcT 15 |

(D) S H | T el

AafrpeE (1) @ @Eem  @HHEeE
EHTHE TlsHAT @ B Sl §
T STAT-STT sl ae @Rl |
T T o T & |

afrpem (1) : wEel @WiHEesE o
%mﬁ%lﬂ;%% @et & R

S |
e

(A) (1) T& &3 (1) Tora & |
(B) (1) T & AR (1) FEr ¢ |
(C) (1) 3R (I1) AT FE & _|
(D) (1) 3R (1) ST 7oA € |

afpe (1) @ == amen o
TET 3T AfEeTsti §RT IR IR
3R & el ¢ |

atfirper (11) ;O faehed ST QT form
W A wAT ¢ A fermes
TANT TEl B XA 8, SgFH ATet

. T 37fess A & @I

(A) (1) 3R (1) S T € |
(B) haa (1) W& &, (1) 7Tota & |
(C) e (I1) et & (1) Wer e |
(D) (1)) W |

D-31-13

62.

63.

64.

65.

ATOTETH | “HTo e Oeg | e €

(a) 3TN Hi THN FHET, S ATH 9T
T HFAME |

(b) T FRT TN & ToTU 3uctes s
Sl HIAT 7 AT i faferear

() T=E-9eR & TRl H =S HA,
ST SeRAT Sl TOT BT HTh Uk
TIATE |

(d) TFF TE-HEX & HET B TR
AT, ST HEST § 9T o e o
AW HATE |

S

(A) wHeet (3) TETE |

(B) ot (b) W& |

(C) (a) 3R (b) T W& & |

(D) (c) 3R (d) T W& & |

frAfafed O 9 &9 91 ST w1 [ied
TR & ?

(A) Towuiy AU

(B) dereiteht Uiy

(C) i 3t

(D) =ik 3fSH

oIk TR’ & G e &

(A) TS THE ST QHERT HUGUT YOt
% TN % oy H euemei %
H|'1°bi hl HIKMH-UKTT hIdl %‘ |

(B) TUH WM I THE S HYE ¥ «eT
foame = oA < Fhar € |

(C) TR WA ol WHg T 3T
T T ST Foelm of HehelT € |

(D) @R & UG 9HE S SAfHe o=
3T Doy <l BT AT © |

IS adEReT § 97 %y o
frtetae =t |t 5 ST gt €
(a) T Y VIR TSI

(b) SIS ST WSS TR

(C) TS T HIHhIHIOT

(d) TS BT ATRIOTE HFAT

HI:

(A) () 3 (b) I T E |

(B) et (d) WEI & |

(C) (c) 3R (a) 31 Wt & |

(D) (), (b) 3R (c) wel &
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Which transformation does the derivation
of the sentence ‘He works hard’ involve ?
(A) Deletion (B) Gapping

(C) S-deletion (D) Head movement

Select the correct order :

l. Subject Il.  AGRP

1. DP IV. Minimalism
Codes :

(A) i iii i iv

(B) iii i i iv

(C) ii iii i iv

(D) i il v i

Assertion (1) : Functional categories
like determiners, propositions
and models lack lexical content.

Assertion (I1): A functional category
may assign case.

Codes :

(A) (1) is true, but (1) is false.

(B) (1) is false, but (11) is true.

(C) Both (I) and (I1) are true.

(D) Both (I) and (I1) are false.

Assertion (1) : Minimalist program
emphasizes the aim of making
statement about language as
simple and general as possible.

Assertion (11): Deep structure is the
abstract syntactic representation
of a sentence.

Codes :

(A) (1) is true but (1) is false.

(B) Both (I) and (1) are false.

(C) Both (I) and (1) are true.

(D) (1) is false, but (11) is true.

The term used in Government and
Binding theory to refer to a type of
Noun Phrase which has no independent
reference, but refers to same other
constituent in the same clause is

(A) Pronoun (B) Anaphor
(C) Common noun(D) Anaptyxis

Assertion (1) : The left hemisphere,
typically better at ‘analytic and
temporal activities’.

Assertion (11):  The right
hemisphere, typically better at
‘intuitive and holistic activities’.

Codes :

(A) Both (1) and (I1) are true.

(B) Both (I) and (I1) are false.

(C) (1) is true but (I1) is false.

(D) (1) is false but (1) is true.

72.

73.

74.

75.
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Match the given items in List — | with
items in List -1l
List—1
a. disorder of .
object
recognition
b. inability to
plan
movements in
the absence of
paralysis
c. inability to
read
d. disorder of
writing
Codes:
a b c d
A i i v i
(B) ii i i i
(C) i i iv i
(D) iv i i i
Broca’s claim is that the faculty of
articulate language was located in the

List—11
Apraxia

ii. Dysgraphia

iii. Agnosia

iv. Alexia

(A) Anterior portion of the left
third frontal convolution

(B) posterior portion of the left
third frontal convolution

(C) anterior portion of the left first
frontal convolution

(D) posterior portion of the left first

frontal convolution

Assertion (1) : Hypothesized by
Chomsky ‘Language acquisition
device’ is more commonly
known as universal grammar.

Assertion (I11): The general
approach  to  syntax is
“principles and parameters”

Codes :

(A) Both (1) and (I1) are false.

(B) Both (I) and (I1) are true.

(C) (1) is true but (I1) is false.

(D) (1) is false but (1) is true.

Stuttering is identified as

(A) disorder of speech

(B) disorder of fluency

(C) disorder of grammar
(D) disorder of lexical items
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o9 AT @ “He works hard’ =t =t
eIt gl € ?

(A faeto= (B)

(C) S foeius (D) MY &1 HoeH
el 5T 1 TFT HIT ;
. famm Il.
. =

HE

A
B

TS,
IV. e

T 11 I | R\

11 1 | v

C) i iii i iv

D) i i iv i

e (1) ;e LR
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(A) (1) T &, AT (1) T T

(B) (1) T &, AR (I1) W &

(C) (1) 3R (1) T W &

(D) (1) 3R (1) S T & |

At (1) : AqHaR! HEHE

T et e i T G

A 3 qHEE HH WTA TS |

Afiper (1) @ T S, A @

. ATFITCH TaEauT & |

(A) (1) W€, iR (1) T € |
(B) (1) 3R (1) T ot & |
(C) (1)) T T |
(D) (1) TTord &, @b (1) W € |
IR 3R e fagid § vge v 0
T 8 6 FhIL I ST Shecl %??%jjebl 3T
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(A) FaT (B) sraRw
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wHd (1) : Oish H amEn
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T W AT A T
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T - | F3T T AR A g — | H A
TE TS1 § AT I -

Sl w1 gET ¢ {6 Swia W
T3t Frefafed o srafed gidl ¢
(A) S AR W FUSH! HT ST
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HIT
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